N = 0l & AF & F Al A

20128 = =04 LBESIH  JIEIS 8 A A& ~ I

GE !
SA e
Nu: JEsss HoER(22E5/HIIS)
&2 T MEE AN 245t (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
A& =2t 42,150,404 53,210,894 A 11,060,490
= 10,177,400
Al 23,273,004
Xl 8,700,000
ANEz=ss Hols22(HIES/HIIE) 760,395 1,157,534 A 397,139
AU=H HRE TAIZE2=Z ARG 4o A &
= 1,400
Al 758,995
E THEE A 2435t 217,763 682,971 A465,208
SUXHE 1 HEHIIS HEE2S
YoldT SHEX 1 44.44 %
= 1,400
Al 216,363
Hasgs =8 2d 201,863 668, 171 A 466,308
201 LetIH| 3,600 3,600 0
01 AtSR22/Hl 3,600 3,600 0
NeEsNolsl soas +g
100,000& 18 »23] 3,600
203 ¥R =& 2,000 2,000 0
03 AZFXHARFAH| 2,000 2,000 0
MeEZ2td AHF=A 2,000
301 EtEA = 190,000 190,000 0
12 JIEtEA S 190,000 190,000 0
HeEZ =8&d=2 N 190,000
403 X SHMSAH=01H 6,263 5,904 359
02 SI|2SOCHSCHE A I 6,263 5,904 359
H=s< 8157 a3l
(50& %189, 0007H*40/100)+(52. 442 x157,8314*3 6,263
0/100)
NRA=2o J At & UsEHH 23 14,500 14,800 A 300
201 Let2d| 13,000 13,000 0
01 AtE22/Hl 4,000 4,000 0
NE=2o & SAM2EHE S S HE 4,000
03 HAH2EHI 9,000 9,000 0
Lts&E A 9,000
301 EtB A= 1,500 1,800 A 300
10 dHALAHIE &= 1,500 1,800 A 300
N&eol & AL MOILE 2EG & AT
24 300,000 x5 1,500
sEHHE MK 1,400 0 1,400
= 1,400




SN HY . S(E) - MRA - B Of) &t o4 e
AXIEH S 01 & 1,400 0
= 1,400
AXNSHEBLEES 1,400 0
SEMHHIE MelXI&Ad 1,400
= 1,400
MeEJI£010] € TAIEZ 542,632 474,563
= 1 MEHII=S ZEE
gold s SHEX 1 0.5%

MYDI=010] 2 475,500 430,500
2 et FH| 475,500 430,500
AtR2teltl 475,500 430,500
MeDIE010] B8 475,500

TV EZ) HEgs 300,000
ol EHE2 150,000
22t & 20,000
SANEE 22 5,500

SAHZ =T 67,132 44,063
2 et | 2,000 2,000
=323l 2,000 2,000
st=mHIIS8al Haltl 2,000
g2 =AY 2,000 3,000
ANBZ=XH 2 FEY] 2,000 3,000
NRA=SEH AMFA 2,000
BB A Z 3,132 3,063
SUAIRRIB LS 3,132 3,063
oL AS 8,132

== 1,125
SAH| 1,320
mE==i:] 687
RXI SRS XH20| H 60,000 0
SR 60,000 0
S, 20 QAN MY I REED
TVAE X 60,000
A HIISHAE &S5 (2#Z2ES/H DI 19,518,920 31,803,420 A 12,284,500
HUSsHE HIIS WXz 2 XS S
= 10,176,000
Al 642,920
Xl 8,700,000
OH & d23 2 A=l 3,166,920 1,147,920
AWXE 1 x| HEE =4 SEE




SN

X s

CHel: N L AIE 22 (SHe X
_ _ PSS
SAN-ZH-SA(FA) - NFAY - BES Ol &F oK 0] Ak o HlwE2
ST SEX %6 %
= 759,000
Al 207,920
Xl 2,200,000
IS =4 3,019,000 1,000,000 2,019,000
= 759,000
Al 60,000
Xl 2,200,000
401 AlEHI L 2T 3,019,000 1,000,000 2,019,000
= 759,000
Al 60,000
Xl 2,200,000
01 Al&d] 2,854,000 1,000,000 1,854,000
MO (22 H) =4 2,854,000
= 759,000
Al 60,000
Xl 2,035,000
02 22l 165,000 0 165,000
MO E(2SH) =4 M2e] 165,000
Xl 165,000
e 2% 2 Als22 147,920 147,920 0
201 LR 10,320 10,320 0
02 322l 10,320 10,320 0
AU E JIIMEE 700,0002 « 122 8,400
PSPl LeIFSIu - 160,000 128 1,920
202 04l 3,500 3,500 0
03 =22/ 20it| 3,500 3,500 0
DN R ZFEHZ0 SR 28 Q& (SAtE A
?l) 3,500
203 YR =X 1,000 1,000 0
03 A= YREXIY 1,000 1,000 0
HEFHAL2I2AH 2T 1,000
401 AlEHIZ 2T 133, 100 133,100 0
01 Al&d] 133,100 133,100 0
SN R AlE2tel 133,100
XHofl A X AIE 22 15,749,000 30,655,500 14,906,500
A S+ 20235 o ol M
XN 3FE
YoEE SEX 80 %
= 9,117,000
Al 132,000
Xl 6,500,000
UK AE 29 30,000 25,500 4,500




SN GEesD
M 2 HISHAL BE(BAYS/HIIS)
cel: RN KAE 22 CrRL
_ _ MEc
SN - E3H .2 (FH) - NIEAY - BAHA= (O] AFCH bﬂ/‘\_FOH Hlw=2
201 LBty 21,000 21,000 0
01 Ar2Zel] 21.000 21.000 0
RRANUTHE CHOIS Al 2AE 21,000
CHOR, & 2R 0 L X A
5.000,0008! 13/ 17| 5.000
RS, oK KR Ol K A
8,000, 0002 *13]x27] 16,000
202 04t 8.000 3.500 4.500
NECEERT 8.000 3.500 4.500
TN KME EOX AT el et
oz 4.000
SHSCHAH 20l 4 KA 201X & o X 312l 25t
ol 4.000
203 oMY 1,000 1.000 0
R EE T 1,000 1.000 0
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